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SJull marks for the questions.
Answer either in English or in Assames.e |
Answer the following questioné: 1x7=7
(a) What is a meso compound ?
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What is meant by a normalized wave
function ?
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(c)

(d)

()

Arrange the following compounds in
increasin‘g order of bond'angle :

were A TR IEal m«aﬁ{@w
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NH3, PH-3, ASHa, BiH3

Draw the structure of the most stable
conformer of cyclohexane.
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'Predlct the shape of the followmg
molecule : -

.‘Wﬁmm“@%ﬁcﬁmn

- SOCl,, SF4

 Which of the followmg molecules is

nonpolar ?
TS AR (PRI o9 @m ?
S0,, PCL,
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Why is phenol a stronger - acid than
aliphatic alcohol ?

aﬁmwwfiﬂaﬁw@fi
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Answer the following qiies‘tions: . 2x4=8

(b)

(0

o m«@mﬁm‘
(a)

Explam the’ physwal 31gn1ﬁcance ofy .
and y?. o

v Wﬁay/ B C@WWWWI

Explain why racemic mixtures are
optlcally inactive ?

@fiﬁﬂﬁawﬁnmmw ST

Assign R/S configuration. of the
following compourids :

T Tl RO R/Sﬁ??ﬁﬂmﬁ'-ﬁl
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- NHj

CHO B -
H++- OH HO—~—— CH;

. CH,OH ' H
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' (d) What is Baeyers test ? Give the

reaction.

@mmqﬁm%qm?wmn

‘> Answer any three of the followmg

questlons 5x3=15

’.W ﬁmmf%ﬁmwm

(a) () State Saytzeff’s rule and explain
with suitable example. -2

%’I‘I@WW@WW
0

. @) Describe the mechanism of

dehydrohalogenation of alkyl
halides. 3

'_@ﬁﬁﬁﬁr?rﬁf%a‘ﬁiw‘l

(b) Describe the uuhty of Born-Haber cycle
for calculating the lattice energy of
'sodium chloride. S S

TfoT Faites b wfe ol Rt
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(c) Identify the products of the following

_reactlons: . 1x3=5
w—ﬁmﬁﬁmmﬁ%m@rwaf@mﬁcﬁ |

0 /\/ +H Lindlar’s catalyst%

[} : ;

| . Oy

G N Zn/H,0

W N tC TBK,

e Y- Hi [OH”

(d) How are alkanes prepared by the
following ? 2% +2%=5

oo AR ARl (T G 4
() Corey-House reaction

+r-gor R
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Wurtz reactioh :

.(e)' Draw the radial ‘probability distribution -

- curves for 1s, 2p and 3d-electrons and
_ explam the dlfference ' 5

1s, 2p @R Sdi‘ca?« @%ﬂlﬁﬂ@ﬁ@lﬁ'\‘ﬁ‘l |

measﬁﬁhe mﬂ%}sjww|

Answer any three of the followmg

questions :

O ﬁzwmf@ﬁfﬁwm

(a) )

(%)

10x3=30

Wnte two dlfferences between
electromeric effect and

resonance effect : , | 2

: mﬁ@ww%mmmﬁ/
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Write down the‘”mechamsm of

oxymercuration-demercuration of

reactlon of propane. .-' 3
- BTolTR Wf%m#ﬁr%ma-f%wﬁs%m
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.State and explain Hofm_ann’s n;le -

with an example. -3

meﬁfﬁ WWWI

Carry out the following eonversiOn ..

o
) > \/\
Ethyne but-2-ene

Discuss the bondmg in NO
molecule with the help of .
molecular orbital theory and from

- -its molecular orbital energy level

dlagram explain why bond energy
of NO* is. larger than that of NO.
S
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() What is radius ratio rule ? How

can it help to predict the..struct'ure

of an ionic crystal ? What is its

. limitation ? o . 5

© 0
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What is lattice energy ? How does

the solubility of -an ionic solid

depend upon its lattice energy ?

| Mention the factors on which

lattice energy of an ionic solid

depends. _ : 5
i e SR e 7o ¢ T TR
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Calculate the % ionic character in
HCI molecule. -Given the bond

~distance. in this molecule is

1. 275A and observed dipole -

- moment value is 1-03D. 3

HCIWB%WWﬁ‘ﬁWIﬁ‘ﬂT'

-oig (@ HCl 993 AER 1[G 1.275A .

mm’naffwﬁu@wmsb .

The dlpole moment of NH 3is Iarger
than that-of NFj. Justify the

statement. , 2

" NF3 9@ NH3-3WW Q@R @

A1

What are quantum numbers -?
How do they arise in the wave
mechanical model of an atom ?

- Discuss the physical. signiﬁbance

of different quantum numbers.
1+42+4=7

mar%mmmﬁsﬁs > 51 WY SR
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.' (ii)
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Write Schro'dinger wave ‘equation
for hydrogen atom. What are
various parameters used in the

‘equation ? o 3
| Q3G AT AW W@ TR

ARRRAC! 1 | TGS T =
Rfen oﬁmﬁmaﬁwaﬁrml |

Compare and contrast about the

structure and stability of

carbocation and carbanion. 5
PRABE AR PG A5 S
2ﬁ%ﬁﬁaiyrnvm%'ﬁmﬁﬂﬁﬁml |

How is’ benzene converted to

acetophenone ? Name the’ reaction

and discuss the mechanlsm

- explaining each step. = .. 5

S ;ﬂﬂmﬁ'oﬁﬁf%mmtﬁ~ﬁﬁ§€a
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State and explain-Huckel’s rule
of aromaticity with suitable

examples. . . 3

';W@WWW*« ol /R

@

(i)

(iv)
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What are anti-aromatic
compounds ? Give examples. 2.

Patei o‘ﬂﬁfﬁmﬁsq@t ? Taid
faam

.Compare the reiative stability of
benzene, toluene and nitrobenzene
towards electrophilic substitution.

o 3
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Explain the difference between the
terms conformation and
conﬁguratmn by taking suxtable
examples.” -2
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